Name _Anm Kg\lr Date l!‘Qd- 2-

Look at the student work. Correct the work. If the answer is incorrect, show a
correct solution in the space below the student work.

1. Todd has 9 red cars and 7 blue cars. How many cars does he have altogether?

Mary's work Joe's work Len's work
o - S 00000
S 888 %| S 0"\‘/7\ B l >
| S
9+7=16 9+7=15 9+7:=16

q+7=1b
N

\
qQ+T=1b

2. Jill has 8 beta fish and 5 goldfish. How many fish does she have in total?

Frank's work Lori's work Mike's work

o < 513

98822 ¥ % Bx = voore \oos
8+5=13 L‘r\l;‘+5=14 8+5=13

%%‘-‘- \3 (ooooo) 000
3 o000

g+5=13
EUREKA Lesson 11: O( A NAAS A\t
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- ASTORYOFUNITS . Lesson 11 Homework 12

3. Dad baked 7 chocolate and 6 vanilla cupcakes. How many cupcakes did he bake in
all?

Mary's work Joe's work Lori's work
00000 |3 3 ¥ 0 % 6= |3
00 Y 507
3
13=7+6 10+ 3 =13 7+6=13

eeesoe |00

6000

T+ =13

4. Mom caught 9 fireflies and Sue caught 8 fireflies. How many fireflies did they
catch altogether?

Mike's work Len's work Frank's work
% Y er| @00 0000 g = |8
xxx | \ooeee D00 o
10+7=17 17=9+8 18=9+8
00000 ] =
o0
1
AQ+8=17 q+3=\1

EUREKA Lesson 11:
MATH
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Make a simple math drawing. Cross out from I had 16 grapes.

the 10 ones to show what happens in the I ate 9 grapes.

] How many grapes
stories. do I have now?

7

JACQO O

Now I have 7 grapes.

1. There were 15 squirrels by a tree. 10 of them were eating nuts. 5 squirrels were
playing. A loud noise scared away 9 of the squirrels eating nuts. How many squirrels

were left by the tree?
©oo0e—e0000

/lD
\5 °o0o000
NE

There were _6_ squirrels left by the tree.

2. There are 17 ladybugs on the plant. 10 of them are on a leaf, and 7 of them are on
the stem. 9 of the ladybugs on the leaf crawled away. How many ladybugs are still on

the plant?
©O0000—0o0oee0

n<|: o0000 OO

There are & ladybugs on the plant.

Lesson 12: Solve word problems with subtraction of 9 from 10.

EURE
MATH
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§

3. Use the number bond to fill in the math story. Make a simple math drawing.
Cross out from 10 ones or some ones to show what happens in the stories.

There were 13 ants in the anthill.
10
/ 10 of the ants are sleeping, and 3 of them are awake.
13
\ 9 of the sleeping ants woke up and crawled away.
3
How many ants are left in the anthill?
Math drawing:
00600—60000
000 L‘ ants are left in the anthill.

4. Use the number bond below to come up with your own math story. Include a simple
math drawing. Cross out from 10 ones to show what happens.

Math drawing:

10 0660066600

14 / oooo
N

Number sentences:

\\-9=5

There are S opples et

EUREKA Lesson 12: Solve word problems with subtraction of 9 from 10. 49
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 ASTORYOFUNTS . lesson13 Homework KCF®

Name A!!&Nﬁ' Kﬁ¥ Date Nle. 2-

Solve. Use 5-group rows and cross out to show G) | 3 __c' -y
your work. Write number sentences. @ 9 -

0O 000

1. Ina park, 10 dogs are running on the grass and 1 dog is sleeping under the tree.
9 of the running dogs leave the park. How many dogs are left in the park?

(11} -9 =2
(U

S CC OO ® O @

There are _; dogs left in the park.

2. Alejandro had 9 rocks in his yard and 10 rocks in his room. 9 of the rocks in his
room are gray rocks and the rest of the rocks are white. How many white rocks
does Alejandro have?

Q 00eee eoooe
13 19-9 =10
0 Alejandro has J0) white rocks.

00000 00000
s 45 e g anmam o o o o

7

Lesson 13: Solve word problems with subtraction of 9 from 10.
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Mod. Z

Lesson 13 Homework

3. Sophia has 8 toy cars in the kitchen and 10 toy cars in her bedroom. 9 of the toy
cars in the bedroom are blue. The rest of her cars are red. How many red cars
does Sophia have?

@ -000-00—000600 o¢ccee o900
o) (%) 18-9=9
Sophia has 3_ red cars.

4, Complete the number bond, and fill in the math story. Use 5-group rows and cross
out To show your work. Write number sentences.

Q 0090 0—0 0000 0000
(4 H-9-=5
(4

There were J_O_ birds splashing in a puddle and H: . birds walking on the dry grass.
9 of the splashing birds flew away. How many birds are left?

There are 5_ birds left.

EUREKA Lesson 13: Solve word problems with subtraction of 9 from 10.

MATH
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Name l“lﬁ!ﬂﬁr Kc¥ Date l!lﬂd. 2-

1O and subtract. Make a number bond. [@ OO @

Draw and10. Subtract and make a number bond.

2 14-9= O 5.12-9= D

Lesson 14: Model subtraction of 9 from teen numbers. 66
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ASTORYOFUNITS = Lesson 14 Homework 2 '

6. Complete the number bond and write the number + 2 3
sentence that helped you. }

(o)
) @ 0 \+3 L" bﬂ:auSe

@ o~ ®eoe
b. o @ ‘-\-L‘BS 00=0=0 o

+5=b

@ .._‘::... Secee
©)

(9
(o ceves senee
@0 \“‘b:-L w-te o

7. Make the number bond that would come next and write a number sentence that
matches.

0 eeeew SSCe0
@ O 1+ 1= 8 et

Lesson 14: Model subtraction of 9 from teen numbers.

EUREKA
MATH
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~ lesson15Homework [FXEY

Date MA\_(_Z

Write the number sentence for each 5-group row drawing.

) -0-60-660—69690 000
-8-606660—65650 00000 O
©c0066—060600 00000 0000
-S06660—6006000 00000 0O

0-00060—000e00 00000 000
-S0-000—06000 0000

l-9=1

19-9=10
17-9=%
13-9=9
4-9=5

Draw 5-groups to complete the number bond and write the 9- number sentence.

O
W) °°°

o
0O

. (1)

0 o o0000 o0

Lesson 15:

EUREKA
MATH
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ASTORYOFUNITS L Lesson 15 Homework 102

O

(5
e 00000 o

w

Draw 5-groups to show making ten and taking from ten to solve the two number
sentences. Make a number bond and write two additional number sentences that would
have this number bond.

5. 8+9=] 1 6.17-9=%

00000 060060660000
00000 ©00

e o O 00

1, o
DE @E

q+<= 11 11-9:=%
g+9= 11 11-%=9

EUREKA Lesson 15: Model subtraction of 9 from teen numbers.
MATH
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we _Answer Key o Mod. 2

Complete the subtraction sentences by using either the count on or take from ten
strategy. Tell which strategy you used.

ex: io-qr~ |
1. 17-9=_8_ H-"?‘IS M/Takefr'om’ren
(e O] 00000 OO0 [[] count on

2. 12—9=_3_ CX'-@ ‘O 3 ‘Z D’rakefr'om ten
q +3 = \2_ Z’coun’ron

Dio-9=| ,
3.}3—9:1 2) 1+b = B"rakefr'omTen
IO b l:l count on

4 11-9 =*; ex..@ |O | ‘ I:I take from ten
q+2 - l\ B’coun’ron

5. Nicholas collected 14 leaves. He pasted 9 into his notebook. How many of his leaves
were hot pasted into his notebook? Choose the count on or take from ten strategy

to solve.
- s
+ﬂkc R—om +en ‘ kt q E I chose this strategy:
o 4 ] take from ten
[10-q =1
1+4s5 I:Icoun‘ron
|
Count On: @ I.D l.l I.Z |? ."' s |4-9= §
EUREKA Lesson 16: Relate counting on to making ten and taking from ten.
MATH

© 2014 Common Core, Inc All rights reserved, commoncore.org



Answer Key ~ Mod. 2

ASTORYOF ust : __Lesson 16 Homework

6. Sheila had 17 oranges. She gave 9 oranges to her friends. How many oranges does
Sheila have left? Choose the count on or take from ten strategy to solve.

?F?O!(fe‘ : l/-\l - q = 8 10 - q i I chose this strategy:
o 0o 1 \PI; [] take from ten

D count on

7. Paul has 12 marbles. Lisa has 18 marbles. They each rolled 9 marbles down a hill,
How many marbles did each student have left? Tell which strategy you chose for

each student. . q -
Paul - count on Lisa—- 8—"F

a+ 3 =12 18 -9

12.-q= 108
Paul has _3_ marbles left. Lisa has j_ marbles left.

8. Just as you did today in class, think about how to solve the following problems and
talk to your parent or caregiver about your ideas.

’15-9 17-9
55
o9 ]

Circle the problems you think are easier to solve by counting on from 9. Put a rectangle
around those that are easier to solve using the take from ten strategy. Remember,
some might be just as easy using either method.

°°..o

EUREKA Lesson 16: Relate counting on to making ten and taking from ten.

MATH
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Name ADM_KﬁSI__— Date _MM

1. Match the number sentence to the picture or to the number bond.

13 10-7=3
a 13-7-= 6 /\
10 3 3+3:6
b. 16-8=_3_ e vesede FeTETEW W
Y
c. 11-8= 3 13 10-8:=2
\
10 3 2+3=H

6 13-8- D T VY
AAVIVIRY,

2. Show how you would solve 14 - 8, either with a number bond or a drawing.
856660 96600 Iy - iD—-YB=2
N

0000
8= (, or Ny 2+u4 =b

10. Then subtract. l'-‘ - 8 = ’b__

3. Milo has 17 rocks. He throws 8 of them into a pond. How many does he have lef?
S\ CO T o

TSSO O o> O

Milo has q rocks left.

Lesson 17: Model subtraction of 8 from teen numbers.

EUREKA
MATH
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| ASTORY OF UNITS  Lesson 17 Homework [X¥3

Draw and 10. Then, subtract.

4. Lucy has $12. She spends $8. How much money does she have now?

Ce o0) oo

'Z - 8 - L‘. Lucy has $_""__now

Draw and@o, or use a number bond to break apart the teen number and subtract.

5. Sean has 15 dinosaurs. He gives 8 to his sister. How many dinosaurs does he keep?

0066\ 00000 I5-¢ 0—-8=2
o-0600 a' A\ 2+ 5 s 7
2 o 5\/, |
'5 -8= 7 Sean keeps_-,__dinosaurs.

6. Use the picture to fill in the math story. Show a number sentence.

2 e A O Q@ ol

(e
T 8

Olivia saw | 8 clouds in the sky. Try it! Can you show how to solve
8 ciouds went away. How many this problem with a number bond?
clouds are left? l 8

l8"8-’-‘ 10 IDAS

Lesson 17: Model subtraction of 8 from teen numbers.

EUREKA
MATH

© 2014 Common Core, Inc. All rights reserved. commoncore.org




Name An_swer KGS’ Date MQd-»Z.

Draw 5-group rows and cross out fo solve. Write the 2+ addition sentence that helped
you add the two parts.

1. Annabelle had 13 goldfish. Eight goldfish ate fish food. How many goldfish did not

egt fish food? _
E-e-ee— 0800 | 000 '3—835
&
yA +3: 5

5 goldfish did not eat fish food.

2. Sam collected 15 buckets of rain water. He used 8 buckets to water his plants.
How many buckets of rain water does Sam have left?

’9'9'99'9' 66600 | 00000 |5~ 83 -1
Z+5 =7

Sam has -’ buckets of rain water left.

3. There were 19 turtles swimming in the pond. Some turtles climbed up onto the dry
rocks, and now there are only 8 turtles swimming. How many turtles are on the dry
rocks?

[s0eee—e0000] 00000 000 ‘o 19-8=1)
2+ 9=\ -

There are l \ turtles on the dry rocks.

EUREKA Lesson 18: Model subtraction of 8 from teen numbers. 84
MATH
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_ ASTORYOFUNITS _Lesson 18 Homework 1e2

Show making ten or taking from ten to solve the number sentences.

4 7 = 5. 15-8=_ 1
5 105

10~
2+

Find the missing number by drawing 5-group rows.

6 11-9: 2 R

eceoo—eese0] © [eeecc—ecee0 | 0000
141 =2 |'|"L\:.5

8. Draw 5-group rows to show the story. Cross out or use number bonds to solve.
Write a number sentence to show how you solved the problem.

There were 14 people at home. Ten people were watching a football game. Four
people were playing a board game. Eight people left. How many people stayed?

Wool 4y -8 10-8= 2

0000 ,o/}_' 2+MH = b

4 -8=06 Z 4-8=0

b people stayed at home.

EUREKA
MATH
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Name Al ls !! c! Kcy Date l!‘Qd . Z-

Complete the subtraction sentences by using the take from ten strategy and count on.

12 |13 |14 |15)16 |17 |18 |19 | 20

1 a12-8=_4 b8+ U4 =12
/\
0 2
0-822 2+2 =y

2. a15-8=_1 b8+ 1:-15

/\
0 5
jo-§:=22 24537

Choose the count on strategy or the take from ten strategy to solve.

3 11-8:_ 9 I/I\ 10-8= 2
Count ‘ \ 2+1z
on (8 a0, o 10 n-8= E]

4, 17-8=_q_ ‘_' _g lo_g._.z

Count (819,i0,1,12,13, 5 107
n - =[§j
i, 15, 16, 17 17-8

EUREKA
MATH
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- ASTORY OF UNITS Lesson 19 Homework

Use a number bond to show how you solved using the take from ten strategy.

5. Elise counted 16 worms on the pavement.
Eight worms crawled into the dirt. How
many worms did Elise still see on the

pavement? @0
16-8=_8

6—%
A"
o b
Supiract § from 10
2 and L make ¥

Elise still saw 8 worms on the pavement.

6. John ate 8 orange slices. If he started with 13, how many orange slices does he

have left? [[o] “'6 s 2
'/% -8 2+3=5
IO 3 John has_5_orange slices left.

7. Match the addition number sentence to the subtraction number sentence. Fill in the
missing numbers.

a 12-8= ""' 4 8+ é =11

b. 15-8= .1

8+ | =18
c. 18-8+= \D

8+_‘+_=12
d 11-8-= 3

8+ =15

Lesson 19: Compare efficiency of counting on and taking from ten.

EUREKA
MATH
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CASTORYORUNTS . lesson20 Homework [i¥Z

nare _ ANSWEr Kﬁy oate_ MOd . 2

Complete the number sentences to make them true.

L15-9: b 2.15-8=_1 3.15-7=_8
JAN A AN
o5 10 5 05
00 000—00000 O000D -~vvrev—rrin 180s) VT Y TR T Y YY)

4 17-9=_§ 5.,1\7-8= q 6.11\7—7=_LQ
IOA-, ([ 2| 0 7

\$

7 16-9=_7 5. 16-8-_8 0 16-7= 9
A A N
10 o 10 o I0 b

1o./1\9-9=_[0_ 11./1\9-8=_]_|_ 2. 199-7=_1Z
10 9 0 9 10 9

13. Match equal expressions.
a. 19-9 ><12 -7
b. 13-8 18 - 8

Lesson 20: Subtract 7, 8, and 9 from teen numbers. 95

EUREKA
MATH
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. ASTORYOFUNITS _ Lesson 20 Homework 1e2

14. Read P1“he math story. Use a drawing or a number bond to show how you know who
is right

a. Elsie says that the expressions 17 - 8 and 18 - 9 are equal. John says they are
i ngsf equal. Who is right? Ig - 9 -9 =9
N\ 2+7:9 |
o 7 '::\3 a:
X3 .-' - 8 4 -
b. John says that the expressions 11 - 8 and 12 - 8 are not equal. Elsie says they
are. Who is right?

c. Elsie says that to solve 17 - 9, I can take one from 17 and give it to 9 to make
10. So, 17 - 9 is equal to 16 - 10. John thinks Elsie made a mistake. Who is

correct? o ~10 ib-10= b
17-9 10-9=1 2 A
A iIt7=8 )b b
7 [g-q=g]ple-le®o
o+ : 0l
d. John and Elsie are trying to find several subtraction number sentences that
start with numbers larger than 10 and have an answer of 7. Help them figure
out number sentences. They started the first one.

Answers con vary
16-9=_1_ 18 - 11 =11

17-10=1 I5-8 =7

EUREKA Lesson 20: Subtract 7, 8, and 9 from teen numbers. 96
MATH
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